
*
7
6
4
8
3
7
0
9
3
3
*

Turn over
OCR is an exempt Charity© OCR 2019 [603/0707/9]  

DC (CE) 177805/3

INSTRUCTIONS
• Answer eight questions in total: 

Section A: answer all questions.
Section B: answer all questions.

INFORMATION
• The total mark for this paper is 80.
• The marks for each question are shown in brackets [ ].
• Quality of extended response will be assessed in those questions marked with an 

asterisk (*).
• This document consists of 4 pages.

You must have:
• the OCR 12-page Answer Booklet
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SECTION A

The Legal System

Answer all questions.

1 Explain the differences between civil and criminal law. [10]

2 Describe the roles of superior and inferior judges in civil cases. [10]

3 Describe how a jury is selected for a criminal trial. [10]

4 Discuss the advantages of using a jury in criminal cases. [10]
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SECTION B

Criminal Law

Read the scenario and answer all the questions.

Mia is at her local sports centre. While in the gym, she notices Deborah, a person who had bullied Mia 
at school, doing some exercises on the floor. Mia picks up a heavy weight, shouts “This is going to 
hurt!” and drops the weight on Deborah’s foot, breaking it. Stephanie, Deborah’s friend, runs over and 
punches Mia in the mouth, breaking one of her teeth.

Stephanie likes Ehsan, one of the instructors at the sports centre. She has regularly asked Ehsan to go 
out with her for a meal at a local restaurant. Ehsan has always refused. However, Stephanie’s constant 
asking has got him so stressed that he is frightened to go to work and, as a consequence, has been 
diagnosed by his doctor with severe depression.

5 Explain what is meant by the requirement of the coincidence of actus reus and mens rea in criminal 
law. [10]

6 Advise how the law relating to non-fatal offences against the person will apply to Mia. [10]

7 Advise how the law relating to non-fatal offences against the person will apply to Stephanie. [10]

8* Discuss the problems with the offence of battery and the extent to which reform of the law would 
make it more morally acceptable. [10]

END OF QUESTION PAPER



4

H015/01 Jun19© OCR 2019

Oxford Cambridge and RSA

Copyright Information

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials.  OCR has attempted to identify and contact all copyright holders 
whose work is used in this paper.  To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced in the OCR Copyright 
Acknowledgements Booklet.  This is produced for each series of examinations and is freely available to download from our public website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible 
opportunity.

For queries or further information please contact The OCR Copyright Team, The Triangle Building, Shaftesbury Road, Cambridge CB2 8EA.

OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is itself a 
department of the University of Cambridge.


